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No. of Questions~ qft ~ : 100 

No. of Pages for Questions~ ~ ~ qft ~ : 27 

Time : 2 t Hours] 

~: 21 FTut] 

[ Full Marks: 300 

[ v.vrfcP : 300 

Note: (i) This question booklet contains 100 (hundred) questions in all 

(30 in Section - A and 70 in Section - B). Attempt as many questions as 

you can. Each question carries 3 (three) marks. One mark will be deducted for 

each incorrect answer. Zero mark will be awarded for each unattempted 

question. 

~ ~ ~Rt1ct>l "4 ~ 100 ~) ~ ~ ~ - aT "4 30 q ~ - if "4 70) I 

~ ~ q;) 5C1 ~ cpr wwr CfR I ~ ~ 3 (aR) 3iq} cpr ~ I JIflTct; m;ro 

~ cff ~ ~ ati!ff q;JCf \ifT#trr I ~ 3ljt1Rc1 ~ cpr ~ ~ i?rTJT I 

(ii) If more than one alternative answer seem to be approximate to the correct 

answer, choose the closest one. 

P.T.O. 
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SECTION-A 

1. A student fails in his examination. The most inappropriate answer will be : 

(1) It is because of his inherited biological potential for learning 

(2) It is because of his caste 

(3) It is because of his family background and lack of training 

(4) It is because of his poor classroom experiences 

~ t9l?T ~an -q ~ m- \jfJ"ffi ~ I ~ ~ 3l'j4~CR1 ~ ~ : 

(1) m5 ~ cj~lIj/lct ~ *'" \ifO+!\iflct ~14~ctl ~ Cf)"R17T ~ 

(2) m5 \NJC#r \1l1ft1 ~ CfiRUT ~ 

(3) m5 ~ 4IRcIlRCf) ~ ~ ~ ~ Cf)"R17T ~ 

(4) m5 ~ ~ q;lffilTIf ~ ~ Cf)"R17T ~ 

2. Which one is the most essential for learning? 

(1) ability to read (2) an intact home 

(3) desire to learn (4) a good teacher 

~ -q ~ ~ ~ ~ ~ '"I5tc1croi CfflT ~ ? 

(1) ~ qft £I14~ctl (2) ~ ~ CR 

(3) ~ qft ~ (4) ~ 3lmT 3JUITqq; 

3. A disabled child's chances for success in school will be maximized when: 

(1) He/She is given a high concentration in the subjects 

(2) He/She is provided with vocational training earlier than other children 

(3) He/She is treated like any other child 

(4) His/Her intellectual potential is discovered and his/her educational 
deficiencies are overcome 

~ fc1Cf)C"IiJI ~ qft fc1~IC"I~ -q ~ ~ ~ ~ ~ iWfr \if6r fcp : 

(1) ~ fctlflf ~ tR ~ 3l1$p t1Wf ~ "GIl<l 

(2) \ffi 3RT m?IT qft ~ -q ~ '8T Clli CI 'iH I fIl Cf) >lftra:rur ~ "GIl<l 

(3) fctRfi ~ 3RT t9l?T ~ 'WlA ~ \Rffi ~ Cll CI 51 'I! fcm:rr "GIl<l 

(4) ~ ~ a=r=rm qft ~ m- 3TR ~ ~ ~ cnT ~ fcmn "GIl<l 

( 2 ) 
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4. A student of fifth class takes the possessions of pupil who sit near her. The 
teacher's best initial step is to: 

(1) isolate the child in a corner of the room 

(2) make a note of this behaviour in the child's diary 

(3) ignore the behaviour, as it will eventually disappear 

(4) arrange a parent conference to try to determine causation 

cplffi -qfq Cf>T ~ m?T. ~ m?T Cf>T \ill fcn ~ ~ ~ ~ t Cf>T x=rr1l'1 B Bm ~ I 
~ Cf>T trnffi cn1"<f "lffl m ~ fcn : 

(1) m?T cnT ~ ~ ~ ~ fWr ~ ~ 

(2) m?Tfcn~l)~~~ 

(3) ~ Cljq61'< qft-~ qft- mFfi ~ cmTfcp ~ Clj q 61'< cgu ~ ~ ~: Tfl(l6I m 
wWrr 

5. During the first parent-teacher conference of the year, the teacher should do all 
the followings except: 

(1) take notes 

(2) include the child, when appropriate 

(3) offer a cup of coffee or tea 

(4) disagree with the parent's philosophy of child rearing 

Cflf cf; ~ ~~ tldtC1'1 ~ ~ cnT ~ ~ ~ ~ tpl\$Cf),< ~ ~ 
cpJlfm~ : 
(1) \ill cgu q;m \iff W t ~ -.,lc ~ ~ 

(2) \IIiI" 3l1q~tlCfj m ~ cnT ~ ¥WIT ~ 

(3) ~ cpq 'q"flf m q;lqft ~ ~ 

(4) ~ cf; ~ cf; ~-~ cf; ~ ~ 3Hi6'"1ffi 

( 3 ) P.T.O. 
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6. Of the following, the most appropriate step for a teacher to improve class 
discipline is to : 

(1) implement punishment 

(2) evaluate and improve his/her teaching material, methods, approaches 

(3) call principal 

(4) call a teacher-parent meeting to discuss the situation 

~ 31UlT4ct> cpr q;-alT ~ 3lj~II*1"1 cnT ~ cpr f.11:;:r ~ xl ~ \34gcro -qG 

CflIT 6f.:rr ~ : 

(1) ~~ 

(2) ~ ftra:ror ~. ~ 3tR \341 3111 -q 4RClct"1 "RRT 

(3) W"l1"1liIl4 cnT ~ 

(4) ~~ ~ 3lllflfGtd CfR *111'fl11 lR ~ ~ CfRYlT 

7. Most important work of teacher is : 

(1) to organize teaching work 

(3) to take care of children 

~ cpr ~ 116'fq'!oi corn t : 

(1) ftra:ror corn cnT xi 31 Fad CfRrrT 

(3) ~ cpr 'CZIR ~ 

(2) to deliver lecture in class 

(4) to evaluate the students 

(2) q;-alT -q ClH'@II"1 ~ 

(4) ~ cpr '!C'lI i q) '1 CfRYlT 

8. A student comes late in your class. Then you will : 

(1) inform to parents (2) punish him 

(3) try to know the reason (4) not pay attention 

~ m?T ~ q;-alT -q ~ xl 3TR'IT t I ~ 3lT4" : 

(1) ~~cnT~m (2) \ffi~~ 

(4 ) 
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9. A teacher's serious defect is he/she: 

(1) is physically handicapped 

(2) belongs to low so do-economic status 

(3) has weak personality 

(4) has immature mental development 

~~~~~~~~fcl>: 

(1) Cf6 ~4><"Ii~1 ~ 

(2) Cf6 ffi xill""lIRn4> ~.~ q)f ~ 

(3) Cf6q,I1\11~'< ClIfcffiC€! q)f ~ 

(4) ~ 3'\ q Rq CfCI 111"1 Ri 4> fr.tcnffr ~ 

10. A New Year fair is being organized in your school. What would you like to do ? 

(1) only to visit the fair (2) to take part in function 

(3) to take a shop to sell something (4) to distribute free water to visitors 

3Tf4'C5 ~ €:II <"Ill -ij ;:pl. CI1t l:R ~ q)f 311 'Q~ \l1"1 fclRn" \1fT W ~ I 3lfCT q:m ~ ~ ? 

(1) ~ ~ -ij \ifAT ~ (2) 4>1~hf)11 -ij 11111 ~ 

(3) ~ m ~ ~ ~ ~ (4) ~ Ct>T :r:m -ij \if(>f ~dRd m 

11. Doctor : Codrot : : Sister : 

(1) Sisret 

(3) Retsis 

~ : 4>16\{c : : ~ : ? 

(1) Ri'{""l\{'c 

(3) \{cRi'{""l 

(5 ) 

(2) Sitsre 

(4) None of the above 

(2) RictH 

(4) \3q,<~Cfd -ij xl ~ -.mT 

P.T.O. 
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12. Abyssinia: Ethiopia: : Congo: 

(1) Thailand 

(3) Namibia 

~51'{fJPtlil : {~ : : ~ : ? 

(1) ~I~~O~ 

(3) '114)~1I1 

(2) Zaire 

(4) Singapore 

(2) "Gll<R 

(4) ffi~II9I'I! 

13. Karl Marx is to 'Das Capital' as Pluto is to : 

(1) The Republic (2) Greece 

(3) Socrates (4) None of these 

~ ~ ~ 'crn=r ~f<lc~r ~ ~ ~ ~ tfi ~ ~: 

(1) G Rqfi<:1Cf) ~ ~ (2) 1ftx:r ~ ~ 

14. 09: 25 : : 49 : 

(1) 64 

09:25::49: 

(1) 64 

(2) 63 

(2) 63 

(3) 81 

(3) 81 

(4) 86 

(4) 86 

15. Rohan is son of Sohan, Mohan is son of Kamla. Kamla is mother-in-law of 
Sheela. Sheela is wife of Mohan. Sohan is grandson of Kamla. What is relation 
of Rohan with Sheela ? 

(1) Grandson 

(3) Son-in-law 

(2) Son 

(4) Brother 

"ffi?r ~ cnr ~ t ~ ~ cnr ~ t ~ ~ ~"ffffi ~I ~ ~ ~ 
tfFfi ~ I ~ ~ cnr ~ ~ I "ffi?r cnr ~ xl CfllT ~ ~ ? 

(1) ~ (2) ~ 

(3) Gl1llG (4) ~ 

( 6 ) 
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16. One morning Udai and Vishal were talking to each other face to face at a 
crossing. If Vishal's shadow was exactly to the left of Udai, which direction was 
Udai facing? 

(1) East (2) West (3) North (4) South 

~ ~ .~ 3TR fctmc;r ~ tR ~ ~ ~ 3JT1R x:rr+R ~ ~ 6fRl 

CfR ~ ~I ~ fctmc;r qft ~ ~ ~ <ftcp ~ ffiq) ~ W ~ m ~ 
Cf>T ~ fclR1 ~ -q ~ ? 

(1) Wif (2) ~ (3) \J'ffi (4) Gfa1ur 

17. Which of the following is different? 

(1) AIT (2) DUP (3) T A S (4) B KJ 

~ -q "fl m fi1;;:r ~ ? 

(1) ~ ~ t)' (2) ~?! ~ 

18. If total age of a father and his son is 40 years and difference between their age is 
of 20 years whereas the age of son is double than that of the daughter, what is 
the age of daughter? 

(1) 10 years (2) 5 years (3) 15 years (4) 3 years 

~ ~ fQm 3TR ~ qft ~ Cf>T mrr 40 X11'<1 m 3TR ~ ~ 20 X11'<1 m ~ ~ 
qft ~ ~ ~ qft ~ qft ~ mm~ qft ~ ~ ~? 

(1) 10 Cflf (2) 5 ~ (3) 15 Cflf (4) 3 ~ 

19. Which one of the following is different from others? 

(1) Infant (2) Youth (3) Boy 

~ -q "fl m-m l1G ~ "fl fi1;;:r ~ ? 

(1) ~ (2) \1fCTT'"l (3) ~ 

20. Write the next number in the following number series: 

53, 46, 41, 38 ..... 

(1) 37 (2) 36 (3) 41 

Pt+11~Rsld ~ -q ~ ~ ~ : 
53, 46, 41, 38 ..... 

(1) 37 (2) 36 (3) 41 

(7 ) 

(4) Old 

(4) ¥.T 

(4) 33 

(4) 33 

P.T.O. 
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21. The objective of Academic Staff Colleges is : 

(1) To impart teaching 

(2) To keep abreast of the latest developments in their specific subjects to 
newly appointed lecturers 

(3) To improve college administration 

(4) To frame curriculum for Universities 

3'lc6;sf?l¢ ~ ¢IJl\ill Cf)T ~ ~ : 

(1) fua:rur CJRO'IT 

(2) "'fCf ~ ~qCft1l3lT em ~ ~ cf> 'iq~'itfl"1 ~ >IGR CJRO'IT 

(3) ~ cf> Wm~"1'i 1l ~ c;rRT 

(4) Fcl!i!q Fcl Ell <'1 ~l cf> ~ q I q mf> ¥OJ Cf)T f.1l:ITur CJRO'IT 

22. Kindergarten system of education was contributed by : 

(1) T. P. Nunn (2) Spencer (3) Froebel (4) Montessori 

f¥;S'<~IIi!'i ftran ~ ~ ~ : 
(1) iT. lft. OR qft (2) ~ qft (3) ~ qft 

23. Which is not the function of NCTE ? 

(1) co-ordinate and monitor teacher education and its development 
in the country 

(2) lay down guidelines regarding tuition fees and other fees chargeable by 
recognized institutions 

(3) to provide money to the colleges for education 

(4) promote and conduct innovation and research in various areas of teacher 
education 

~ 1l xl CflIT ~ ~ fuan ~ Cf)T C5T"4 rrtff ~ ? 

(1) ~ 1l ~ fuan cf> fclc!m:r Cf)T ~"1 ¥OJ;:q 1I 'i ~ Pi ~ I '< 14'1 

(2) ¥OJHRlI mc<f m~3TI cf> fua:rur ~ ~ 3foXI" ~ cf> ~ ¥OJ1~fG~hf>1 
Cf)T ~ CJRO'IT 

(3) ¢1 Jl \ill em ~ >IGR CJRO'IT 

(4) ~ ftran cf> ~ af;IT 1l 'iql'ql,< ~ ~ em ~lctilffid CJRO'IT 

( 8 ) 
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24. Who constituted the National Knowledge Commission ? 

(1) Dr. Manmohan Singh (2) Mr. Arjun Singh 

(3) Prof. Amitabh Mattoo . (4) Dr. Pratap Bhanu Mehta 

~ ~ 3WWr cCr ~ fclR:R cCr ? 

(1) ~o '1~41~i5~ ftig" (2) .13ft ~ ~ 

(3) IDo ~ ~ (4) 610 >JdTq ~ ~ 

25. International Association of Universities IAU is based in : 

(1) Washington (2) Chicago 

(3) Paris (4) London 

31'"'d'<~~~ fcl~qfclEiICil~ ~ q;gT ~ t ? 

(1) ql~i~le~ (2) ~ ~ ICf)PIi 

(3) ~ (4) ~ 

26. UNESCO is going to establish the Mahatma Gandhi Institute of Education for 
Peace and Sustainable Development (MGIEP) at : 

(1) New Delhi (2) Ahmedabad 

(3) Mumbai (4) Pune 

1\~~~ ~ ~ ~RI~1\e 3fftp 

~~\iJTwt? 
~"l~~I~ t:f>Tx ~ ~ t1t1e~51('1 ~~('1q~e q;gT 

(1) ~~ 

(3) ~ 

(2) 31i5'1GI5IIG 

(4) ~ 

27. Where was held the 98th Indian Science Congress in early 2011 ? 

(1) Hyderabad (2) Chennai 

(3) Koehl (4) Kolkata 

98cIT ~ ~ Cflf 2011 ~ ~ ~ q;gT "§3IT ~ ? 

(1) ~G'<I5IIG (2) ~ 

(3) cnmr (4) Ct»('1Cf)It"l1 

( 9 ) P.T.O. 
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28. Which of the following University is celebrating its founder's 150th birth 
anniversary? 

(1) Aligarh Muslim University 

(2) Banaras Hindu University 

(3) Jawahar Lal Nehru University 

(4) Chaudhary Charan Singh University 

f.111'f 1f xl cttPr-m Fcl~ClFclt/lC1l1 3ltR ~ Q)f 150ciT iJfri1 Cl1f .,-rrr m % ? 

(1) ~ ~ Fcl~ClFclElIC1l1 

(2) 6Rm1 ~ Fcl~CjFclElIC1l1 

(3) ~ 'ffi"C1" ~ Fcl~ClFclElIC1l1 

(4) ~"'fR'OT ~ Fcl~CjFclElIC1l1 

29. What is NIMHANS ? 

(1) Deemed University 

(3) Central University 

~~~~~~~crm%? 

(1) ~ Fcl~ClFclElIC1l1 

(3) ~ Fcl~ClFclElIC1l1 

30. What is IEP in Education? 

(2) Open University 

(4) Residential University 

(2) ~ Fcl~ClFclt/lC111 

(4) 31IClI'ff)lI Fcl~ClFclEIIC111 

(1) Individualized Education Program (2) Instructional Education Program 

(3) International Educational Planning (4) Indian Educational Planning 

fum 1f ~ ~ lfr crm % ? 

(1) ~~Fcl'1CjC1I~\J"\S q'1\cB~I'1 ~ 

(3) ~;oc,<-i~HC1 q'1\cB~I'1 C{'I1IPi~1 

( 10) 

(2) ~'iiS:~I'1C1 q'1\cB~I'1 ~ 

(4) ~KS~F1 q'1\cB~I"1C1 C{'I1IPi l l 
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SECTION-B 

31. Who of the following does not support the Social Contract theory of 
the origin of state? 

(1) Hobbes (2) Locke (3) Hegel (4) Rousseau 

Plk1~~d -q ~ "$R ~ qft ~ cB- til ¥OJ I fijj Cf> '{i¥OjSnd I ~<tiI'i1 
~ ~"ijRGft? 

(1) ~ (2) ~ (3) ~ (4) ~ 

32. Which one of the following was not associated with utilitarian theory? 

(1) Bentham (2) James Mill (3) T. H. Green (4) J. S. Mill 

(1) -ij~ (2) ~ f4c;r (3) iTo ~o m (4) \ko ~o fi1c;r 

33. Who of the following was not a moderate? 

(1) W. C. Banerjee 

(3) Bipin Chandra Pal 

Plk1~~d -q ~ "$R ~~ ~ ~ ? 

(1) ~o~o~ 

(3) ~~~ 

(2) Ferozeshah Mehta 

(4) Dadabhai Naoroji 

(2) fi:l>'<1\J1~1Ii5 ~ 

(4)~~ 

34. Who of the following was not associated with Swaraj Party ? 

(1) Motilal Nehru 

(3) Vitthal Bhai Patel 

(2) C. R. Das 

(4) Vallabh Bhai Patel 

Plk1~~d -q xl ~ ~ ~ xl rnff"¥. ~ ? 

(1) 111ct1C11C1 ~ (2) ~o 3ll'Xo Gm 

(4) ~~~ 

'Cf>T 

( 11 ) P.T.O. 
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35. Who was the chairman of the Constituent Assembly of India ? 

(1) Dr. Rajendra Prasad (2) Dr. B. R. Ambedkar 

(3) C. 'R. Das (4) Dr. B. N. Rao 

'mm ~ ~ ~ cf; 31&f1ff/~ cPA ~ ? 

(1) 61o~~ 

(3) ~o 3TRo Gffi 

(2) 610 Efto 3Wo 3ldt:sct>\( 

(4) 610 Efto ~o ~ 

36. Who was the Governor-General of India at the time of independence? 

(1) Lord William Bentinck (2) Lord Curzon 

(3) Lord Mountbatten (4) Lord Minto 

'mm ~ 't<Id?ldl cf; ~ ~-~ cPA ~ ? 

(1) ~ FcH~~Ji ~ (2) ~ qruf.; 

(3) ~ JiI\3;::e~c'" (4) ~ f11;:cT 

37. Besides the Chief Justice, how many other judges are there in the Supreme 
Court of India? 

(1) 25 (2) 24 (3) 23 (4) 20 

~ ~ cf; 3lRtRCffi mm cf; ~ 'XI1~1(1~ -q ~ ~ m-cf t ? 

(1) 25 (2) 24 (3) 23 (4) 20 

38. Who certifies the Money Bill ? 

(1) Finance Minister of India 

(2) Finance Secretary of Government of India 

(3) Speaker of the Lok Scibha 

(4) Governor of Reserve Bank of India 

~ ~ em f:~lq.., cPA C1ffiIT ~ ? 

(1) 'mm em fcffi" If;fi 

(2) mm fli( q; Ii( em fcffi" ~ 
(3) "ffiq; ~ em 31&f1ff 

(4) 1lffif cf; ~ ~ em ~ 

( 12 ) 
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39. In which state of India is Jallianwalla Bagh situated? 

(1) Uttar Pradesh (2) Punja~ 

(3) Rajasthan (4) Himachal Pradesh 

\J1 RI ~i ell 611 6fl1T 1fRff ~ fclR:r ~ .q ~ t ? 

(1) \RR m (2) ~ 

(3) ~ (4) ~J1I'tl61 m 

40. Who gave the theory of 'Trusteeship of Wealth' ? 

(1) Karl Marx (2) M. K. Gandhi (3) Rousseau (4) T. H. Green 

''{iklRl ~~' cnr ~C&I"t1 ~ ~? 
(1) qm;f lfTCRt (2) ~o ~o ~ (3) ~ (4) ito ~o fu 

41. Which among the following is not a necessary feature of Presidential 
form of Government? 

(1) President is Head of the State 

(2) President is Head of the Government 

(3) President is free to appoint his Ministers 

(4) President is accountable to the Legislature 

PtklRlR5!d .q ~ ~ 3IUf~ ~ ~ qft 3lW~~q) fc)~~~dl ~ t ? 

(1) \!I~q~ ~ cnr ~ t 
(2) \!I~q~ '{i\!Cf)I\! cnr ~ t 
(3) \!I~q~ 3N-l ~ qft f.1Wffi .q ~ t 
(4) \!I~q~ ~ ~ ~ \3*1\!GI4'I t 

42. What does 73rd Indian Constitution Amendment Act, relate to ? 
• 

(1) Reservation (2) Urban Go~rnance 

(3) Panchayati Raj (4) State Autonomy 

~~cnr73cIT~~~~~t? 

(1) 3T'RlffUT ~ (2) ~ ~ ~ 

(4) ~ fql~*1dl ~ 

( 13 ) P.T.O. 
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43. Not included in budget deficit is : 

(1) Revenue deficit (2) Capital account deficit 

(3) Balance of Payments deficit 

61 \J1 €Ill t:I"R 1l '<"l ~ fC>1d ~ ~ : 

(1) m>ffCr tlTCT 

(4) Interest payments on public debt 

(2) ~ ~ tnCT 

(3) :fffiR fi gC1 '1 tlTCT (4) '<"ll cl \J1 f.1 Cf> "'5f[UT lR ~ :fffiR 

44. Under perfect competition, it is necessary for a firm to get maximum profit: 

(a) MR=MC 

(b) MC curve, cuts MR from below 

(c) AR=MR 

which statement is correct? 

(1) (a) and (b) (2) (a) and (c) (3) (b) and (c) 

~~ffi{llf1ldl 1l ~ tJ>lt qft ~ ~ cf> ~ 31lq*!llCf> ~ : 

(a) MR=MC 

(b) MCcrw. MR cnT ~ ~ cnrcm ~ 

(c) AR=MR 

\3q~cm q)~ 1l. cnt.l-m q)~ ~ ~ ? 

(1) (a)3tR(b) (2) (a)3tR(c) (3) (b)3tR(c) 

45. Which of the following is correct equation ? 

(a) GNP = C + I + G - (X - M) 

(b) GNP = C + I + G + (X - M) 

(c) GNP = C + I + G - (X + M) 

. (1) only (a) (2) only (b) (3) (a) and (b) 

f.1k1~~d 1l ~ ~ '<"ltfiCf>,<UI cnt.l-m ~ ? 

(a) GNP = C + I + G - (X - M) 

(b) GNP = C + I + G + (X - M) 

(c) GNP=C+I+G-(X+M) 

(1) ~(a) (2) ~(b) (3) (a) ~ (b) 

( 14 ) 

(-±) (a), (b) and (c) 

(-±) (a), (b) 3tR (c) 

(4) (a), (b) and (c) 

(4) (a), (b) ~ (c) 
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46. When Average Variable Cost (AVC) is minimum, then Average Productivity 
(AP) is: 

(1) equal to AVC (2) zero 

(3) maximum (4) negative 

'\jfij 3TTmf qRqct"1~(>j CifTlm (AVC) ~rtcP1 5Rfi l ~ 3TTmf \i~IGCI?dl (AP): 

(1) AVC ~ ~ 5Rfi t (2) ~ 5Rfi t 
(3) ~ 5Rfi t (4) ?liOllfl"lCl? 5Rfi t 

47. If Price Consumption Curve (PCC) turns towards Y axis, then: 

(1) X is superior goods and Y is giffin 

48. 

(2) Y is superior goods and X is giffin 

(3) Both X and Yare giffin 

(4) Both X and Yare superior 

~ ~ ~ CfW (PCC) Y 3flff qft (R"q) ¥. \i'fTCfi l ~ : 
(1) X. \iCip~ ~ t 3tR y f.Tcpc 
(2) Y \iCip~ ~ t siR X ~ 

(3) X ~ Y GFIT ~ f.Tcpc t 
(4) X ~ Y GFIT ~ \iCip~ t 

In the law of increasing returns of production: 

(1) MC<AC (2) MC>AC (3) MC=AC 

~ ~ cf.& f.n:p:r -q : 
(1) MC<AC (2) MC>AC (3) MC=AC 

(4) 

(4) 

MC*AC 

MC*AC 

49. French economist Cournot's model is related to which type of market? 

(1) Perfect competition (2) Monopoly 

(3) Bilateral monopoly (4) Monopolistic competition 

W;:q 3l~ ~ Cf)T ~ fclR:J >rCffIX ~ ~ xl ~ t ? 

(1) ~ ~RI~lf?1d1 (2) ~ 

(3) ~ (4) ~ ~Rllllfl'Jdl 

( 15 ) P.T.O. 
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50. Aggregate supply of land is : 

(1) Perfectly elastic (2) Perfectly inelastic 

(3) Unitary elastic (4) Zero elastic 

~ cGr "fl1TIf ~ ~ ~ : 

(1) ~ , l!0 (Ill I C1lilGI,< (2) l!0h, III ~ C11il G 1'< 

(3) ~ c;ITq (4) ~ c;ITq 

51. Who termed imperfect competition as two-edged knife? 

(1) Chemberlin (2) Stigler 

(3) Samuelson (4) Joan Robbinson 

~ ~ !II ffi III Pm I cpT ~ CfRCJR 6fC1l<:[T ~ ? 

(1) ~~,<f(;j'1 (2) fkJIC1'< 

(3) ~~C1f1'1 

52. Example of derived demand is : 

(1) Demand for labour 

(3) Demand for consumer goods 

C2j~'""'1 lffTr Cf)f \3GI5,<OI ~ : 

(1) JWf cGr lffTr 

(3) ~ ~ cGr lffTr 

(4) ~ ,<1f61~i'1 

(2) Demand for tea 

(4) Income demand 

(2) 'tWl cGr lffTr 

(4) 3l1<l lffTr 

53. Which economist supported mixed economy for economic development? 

(1) Marshall (2) J. S. Mill 

(3) J.B. Say (4) J. M. Keynes 

~ fcm>m c5 ~ ~ 3l~ Cf)f ~ 3l~ ~ x:r:r$1 fcnm m ? 

(1) ~ (2) ~o ~o fi1c;r 

(3) ~o '6fio xl (4) ~o ~o ~ 

( 16 ) 
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54. Meaning of mixed economy is : 

(1) Co-existence of small and large irldustries 

(2) Co-existence of agriculture and industry 

(3) Co-existence of poor and rich 

(4) Co-existence of private and public sector 

~~cpr3f.!ft : 

(1) ~ ~ fcmrc;r ~ cpr W~ 

(2) wflt ~ ~ cpr W~ 

(3) ~ ~ 311fRt cpr ~~ 

(4) N ~ tiI4\ifP!q; af;r cpr ~~ 

55. The presence of carbon dioxide in atmosphere is approximately: 

(1) 3% (2) 0.3% (3) 0.03% (4) 9% 

Qlg'10 ;S(l1 -ft ~ ~ 311CffiI~;S ~ 1U?IT lffifr t ~ : 
(1) 3% (2) 0.3% (3) 0.03% (4) 9% 

56. '''The present is the key to the past" is stated by : 

(1) W. M. Davis (2) James Hutton 

(3) R. J. Chorley (4) W. D. Thornbury 

, Qct'1l '1 110 q; I (11 ~ ~ t, q;) 'ClJ'Cffi fcnm ll<IT t : 

(1) ~o ~o ~ am (2) ~ 5C'1" am 

57. Corrasion is a process of : 

(1) Chemical weathering 

(3) Biotic weathering 

3Jq~~OI ~ t: 
(1) ,<ltilqP!Q; ~ ~ 

(3) ~~~ 

( 17 ) 

(4) ~o ~o ~am 

(2) Physical weathering 

(4) Biochemical weathering 

(2) ~~~ 

(4) ~q'<ltilqp!Q; 3fq/R1.T ~ 

P.T.O. 
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58. The Horse latitude is situated in between: 

(1) 10° to 20° (2) 20° to 25° 

(3) 30° to 35° (4) 40° to 50° 

3m" 3T~ cCr ~ ~: 

(1) 10° to 20° (2) 20° to 25° 

(3) 30° to 35° (4) 40° to 50° 

59. Foehn is a local wind of : 

(1) China (2) North Korea 

(3) Japan (4) Switzerland 

~~~5CIT~: 

(1) TfA cCr (2) ~~cBT 

(3) \ifTtI'Ff cCr (4) f{.q C \i'F( ~ O;S cBT , . 

60. Globigerina Ooze is a deposit of : 

(1) Terrigenous materials (2) Volcanic lava 

(3) Organic materials (4) Inorganic materials 

f e1) ifI Jt {"''II "\3)\jf \1I"1l1CI" ~ : 

(1) ~~q;r (2) \Jq 1 (11 j'lil"l q;r "C1TCrT 

(3) ~~q;r (4) 31 <f)I& f.1 Cfj lfGT~ "CfJT 

61. The precipitation in north-west India in winter season is caused by : 

(1) Retreating monsoon 

(3) Local thunder storms 

(1) ~ '11~'<i~ 

(3) ~ siSlIqld 

( 18 ) 

(2) Western disturbance 

(4) Anticyclone 

(2) q flq ql fctaWl 

(4) ~Rtilwqld 
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62. Which one is not included in the content of economic geography? 

(1) Relief (2) Water Resource 

(3) TranSportation (4)' Agriculture 

~~~~~~~~~~am\~? 

(1) \i'b€llq'q 

(3) q~q6"1 

(2) UR>r~ 

(4) ~ 

63. Which one of the following industry is a foot loose ? 

(1) Cement (2) Sugar 

(3) Jute (4) Hosiery 

PtA1R;iRid ~ ~ ~ amTR ~ ~ t ? 

(1) ~ (2) ~ 

(3) ~ (4) ~ 

64. The Green Revolution in India has so far been successful in raising productivity 
in: 

(1)· Oil Seeds and Pulses (2) Sugarcane and Potato 

(3) Wheat and Rice (4) Tea and Coffee 

1tffir ~ ~ ~ 31'4) (f(p \iNIC:q;dl ~ ~ ~ ~ t : 
(1) ~{OI6"1 (fl!IT ~ ~ (2) TAT ~ 3l'R'l. ~ 

(3) ~ ~ ~ ~ (4) Tmt ~ q;sqy ~ 

65. Which one of the following is a great circle? 

(1) 90° (2) 0° 

(1) 90° (2) 00 

( 19) 

(3) 23!0 
2 

(3) 23!0 
2 

(4) 66!0 
2 

(4) 66.!0 
2 

P.T.O. 
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66. On a map with the scale of 1: 1 million, the distance between two 
ems apart is equally: 

(1) 7 kms (2) 14 kms (3) 28 ms (4) 28 kl 

1 : 1 ~~~~ 1=JlqCf) l:R ~ i11~RI?I l:R 2.8 M" ~ 31"("1'<1("1 ~ ~ c; 

ql'RlFclq; ~ t : 
(1) 7 Mo (2) 14 M (3) 28lfr (4) 28 ~ 

67. The main means of transport in Harappan culture was: 

(1) Boat (2) Bullock Cart (3) Ikka (4) Horl 

~ ti't<pRt -ij qRq6~ em ~ ~ ~ : 

(1) -;:fiq;r (2) ~('1411~ (3) ~ (4) ~ 

68. Kalidas was the contemporary of : 

(1) Samudra Gupta 

(3) Chandra Gupta Vikramaditya 

q;1~cm1 t1i1q;IiA)~ ~ : 

(2Y Chandra Gupta 1st 

(4) Skand Gupta 

(1) t1!!~~l{1 ~ 

(3) :q~ 1l{1 Fc!Sfli1IFatil c$ 

(2) :q~~l{1 ~ c$ 

(4) %"'G~l{1 c$ 

69. Lingaraj temple and Surya temple are the greatest example of : 

(1) Vesar Style (2) Nagar Style 

(3) Dravida Style (4) Mammal Style 

~41'<1\i1 ~ "qct ~ ~ ~~ \iGI6,<OI ~ : 

(1) ~ ~ ~ (2) ";fJTR ~ ~ 

(3) ~ ~ c$ (4) l11llffi ~ c$ 

70. The Khajuraho temple was built by : 

(1) Chandela Rulers (2) Pala Rulers 

(3) Hoyasala Kings (4) Vakataka Rulers 

(5j'1'<16~ ~ em ~ q;,<ql~1 ~ : 

(1) ~ ~1It1Cf)1 oi (2) '4TC'1" ~1It1Cf)'j oi 
(3) 6~~t1("1 ~ oi (4) qlq;leq; ~1I'l1Cf)'j oi 

(20 ) 
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71. Dilwara temple of Abu was built during the reign of the Chalukya ruler: 

(1) Jaisingh Siddhraj (2) Bhima 1st 

(3) Vallabhraj (4) Karna 

~ * ~(>1ql'$I-~ q)f ~ fcnx:T :q1~Cf£l· ~ * "Cf)f(>1" ~ "§3ll" ? 

(1) \JI£lffi5 Rica'1l\J1 (2) ~ ~~ 

(3) ~ (4) cpuf 

72. Amir Khusrau was the contemporary of : 

(1) Allauddin Khilji 

(3) Balban 

~ ~ *P:1Ct>IC'1~'1 ~ : 

(1) 31 (>11 \3t'1 '1 RsI (>1 \k) * 
(3) ~* 

(2) Qutubuddin Aibak 

(4) Iltutmish 

(2) cgg~t'I'1 ~ * 
(4) ~c>gd~:tl * 

73. Which Harappan site does not yield figurines of Mother Goddess? 

(1) Harappa (2) Kalibangan 

(3) Kotdigi (4) Amri 

fcnx:T 5'$Clj~ £I ~ xllffil ~ cCr ~ IDt(f rrtff ~ ~ ? 

(1) ~ (2) Ct>1cl)t;j 411 

(3) ct>lccftGft (4) ~ 

74. Which of the following site was a port to~ of Harappan civilization ? 

(1) Dholavira (2) Desalpur 

(3) Chanhudaro (4) Lothal 

f.1kf ~ ~ xl CJ>t;;-m ~ ~ cf;-r ~ ~"G'14115 ~ ? 

(1) d\(>1Ict1'11 (2) ~,{11(>191'1 

(3) :q1~G'$l (4) ~ 

( 21 ) P.T.O. 
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75. Which among the following was the birth place of Gautam Buddha? 

(1) Shrawasti (2) Kaushambi 

(3) Vaishali (4) Kapilvastu 

~ -ij ~ cn"A-m ~ ~ ~ q)T \IFl-x~ ~ ? 

(1) ~ (2) qi)~II4l"j 

(3) ~ (4) CfjR1<>iQtg 

76. What was the name of son of Raja Parikshit ? 

(1) Abhipratarin (2) Janmejay 

(3) Abhimanyu (4) Sanjay 

mm ~ cff ~ q)T ~ "iflf ~ ? 

(1) ~SlC1IRol 

(3) ~ 

(2) \J1~\J1£l 

(4) ~ 

77. Which Mauryan ruler was defeated by Pushyamitra Sunga ? 

(1) Bindusar (2) Samprati 

(3) Dasharath (4) Brihadrath 

9)64 Ill?! WI ~ fcnfr If)<f mm cpf lRffil fclRrr ~ ? 

(1) RiS;fll'< (2) ~ 

(3) Gffi"~ (4) ~~ 

78. Who among the following had organized the third Buddhist Sangiti ? 

(1) Ashoka 

(3) Harshavardhan 

(2) Ajatshatru 

(4) Bimbisar 

~ -ij ~ fclR:A ~ ~ Wfifff q)T 311 ~1 \J1 '1 fclRrr ~ ? 

(1) 3TWP (2) 31\J1IC1~lj 

(3) ~ (4) Ri~fll'< 

(22 ) 
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79. Disease 'Marasmus' ·is caused due to the deficiency of which nutrient: 

(1) Vitamin (2) Protein 

(3) Carbohydrate (4) Fat 

Ji,<IfJ1tl ~ ~ ~ ~ cCr Cf)lfi ~ 'M' t : 
(1) Fckl~"1 (2) >ITeR 

(3) CfjIEi'i61~~C:: (4) crm 

80. Instrument used to measure adulteration in milk is called: 

(1) Lactometer (2) Altimeter 

(3) Meter (4) Premeter 

~ -q ~<;lIq c:: ~ CfR'l cf; ~ wITrr ~ ~ ~ <i?r cpT CfflT cmm ~ ? 

(1) ~ CfC~ 4k,< (2) 3l1<=Zl !fI C'< 

(3) ~ (4) ~~C::'< 

81. First sign of food poisoning is : 

(1) Fever 

(3) Vomitting 

~ ~~ Icmd I 'Cf)T >r~ c;ra;ur t : 

(1) ~ 

(3) Cf1R 

(2) Dysentery 

(4) Shivering 

(2) ~ 

(4) Cfj4ct>cfl 

82. What is the basic objective of extension education? 

(1) Social Welfare (2) Family Welfare 

(3) Human Welfare (4) International Welfare 

~ m 'Cf)T ~ ~ CfflT t ? 

(1) ~ ct>@OIIOI (2) ~ ct>@OIIOI 

(3) lJFICT ct> @OIl 0 I (4) 31 '"{1 ,<1 tSSflll ct> @OIl 0 I 

(23) P.T.O. 
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83. Tetanus is communicated through: 

(1) Skin 

(3) Water 

~e'1tl ~ ~ ~ tiqlffid m ~ ? 

(1) ~~ 

(3) \;fR ~ 

84. Age of adolescence is between: 

(1) 10-12 years 

(3) 19-30 years 

Fcb~n'(lq'{"efl qft "i3lf ~ : 

(1) 10-12 Cllf 

(3) 19-30 Cllf 

(2) Air 

(4) Food 

(2) CWJ TIm 

(4) ~ TIm 

(2) 13-18 years 

(4) 30-40 years 

(2) 13-18 ~ 

(4) 30-40~ 

85. First dose of D.P.T. is given at the age of : 

(1) 0-1 month (2) 1-2 months 

(3) 5-6 months (4) 6-9 months 

~otftotTo qft W?-1l1. ~ ~ "i3lf -q eft \iffifi ~ ? 

(1) 0-1lTI6 (2) 1-2lTI6 

(3) 5-6lTI6 (4) 6-9lTI6 

86. When a child should be given mother's milk: 

(1) 1 day after birth (2) 8 hours after birth 

(3) Immediately after birth (4) 2 days after birth 

~ em -,:ff em ~ 'CP6r ~ cp'(q I'll ~ : 

(1) ~ ~ ~ ~ iITG (2) ~ ~ 8 ~ iITG 

(3) ~ ~ ~ iITG (4) ~ ~ 2 ~ iITG 

(24 ) 



87. What type of food should be given in the state of constipation? 

(1) Roughage (2) Fatty 

(3) Carbohydrate (4) Protein 

~1)~WPRcpr~l1GM~~ ? 

(1) ~ (2) Q't1lgcm 

(3) ij)IEif61~~C:; ~ (4) -mtR ~ 

88. Which disease is caused by deficiency of calcium: 

(1) Osteoporosis (2) Addison's disease 

(3) Anaemia (4) Pellagra 

~~I;qJi ~ ~ ~ cffA-m Wr 5Rrr t : 
'\. '\. '\. '~ (1) 311«141'<1 't1 

(3) ~4'lf?t;q1 

89. Cotton is which type of fibre? 

(1) Natural 

(3) Synthetic 

q;qm ~ WPR cpr ~ t ? 

(1 ) SlIip Rt ij) 

(3) 'ti~JI~d 

(2) ~~'t1'i Wr 
(4) tR>mrr 

(2) Man-made 

(4) Mineral 

(2) Jil'iqpd 

(4) ~ 
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90. Ariboflavinosis disease is caused due to deficiency of which nutrient? 

(1) Riboflavin 

(3) Thiamine 

(2) Pyridoxine 

(4) Naicin 

3t\(I~EI)q:Jlf4'1)~'t1 Wr ~ ~ m=cr ~ ~ ~ 5Rrr t ? 

(1) \(1~EI)q:~FcH (2) ql~~;sIFcffi'i 

(3) ~ (4) 'il;q~'i 

(25) P.T.O. 
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91. All adjustment entries in Final Accounts are written at two place's: 

(1) Trading Account and Balance Sheet 

(2) Profit and Loss Account and Balance Sheet 

(3) Trading Account, Profit and Loss Account and Balance Sheet 

(4) Trading or Profit and Loss Account and Balance Sheet 

x=r=rm '{"Piltll\J1'"113TI cB-~ ~ 6ATIf "'{"fq<:f "cD Wffi ft?mrr \i'lTcTT % : 
(1) C2lNR ~ -q (fm ~ -q 
(2) c;rr:r-m ~ -q (fm ~ -q 
(3) C2lNR~, c;rr:r-m ~ (f~ ~ B 
(4) ~ 3T~ c;rr:r-m ~ ~ ~ -q 

92. Which of the following statement is true? 

(1) Accounting and Book-k~eping are synonymous 

(2) Book-keeping and Accounting are complementary to each other 

(3) ALcounting starts from where Book-keeping ends 

(4) Both (2) and (3) 

f.1J:;:r -q ~ ~-XiT q)~ ~ % ? 

(1) ~{Sli4>'1 3iR g'Hi41<>1'1 ~~ ~ 

(2) g~"{141<>1'1 3iR ~{Sli4>'1 ~ ~ -$ ~ ~ 
(3) ~ g~"{14Id'1 ~ mm % cffiT ~ ~~ ~ mm % 
(4) (2) (fm(3) m 

93. Which of the following appears in Cost Accounts and not in Profit and Loss 
Account? 

(1) Raw materials 

(2) Rent of house of the owner of business 

(3) Works overhead 

(4) Selling and Distribution Expenses 

f.1J:;:r -q ~ ~-XiT lfG ~ ~ -q Nc=rr %. c;rr:r-m ~ -q -;:ffiT ? 

(1 ) q;n:rr l1f(>j" 

(2) Clfq~WOl ~ cB-~ Cf>T fcnw.rr 
(3) 4> 1"!{Sl 1'1 I 134RClfll 

(4) ~ ~ fctc:RuT ClI<l 

( 26 ) 
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94. Under which section of Companies Act, 1956 a company auditor is appointed? 

(1) 224 (2) 228 (3) 227 (4) 223 

~ ~alcP qfi ~ ~ ~. 1956 qfi fclR:r mxr ~ ~ 5Rfr ~ ? 

(1) 224 (2) 228 (3) 227 (4) 223 

95. A private company can commence its business after obtaining the: 

(1) Certificate of Incorporation 

(2) Certificate of Commencement of Business 

(3) (1) and (2) both 

(4) None of the above 

~ f.Wft ~ ~ W{f ~ ~ \34i(1'tl ClIq{lI~ ~ CJR ~ ~ : 

(1 ) ~ ~ I Ji'1 CfiT wrrur tf?r 

(2) ClIqfll~ ~ ~ CfiT wrrur tf?r 

(3) (1) TItm (2) GFIT 
(4) \341Cffi it xl ~ ~ 

96. Which is not an element of planning? 

(1) Forecasts (2) Policies 

(3) Performance (4) Programmes 

~ ~ 1I~\l1 '1 CfiT ~ ;uff ~ ? 

(1) l!q~jJiI'1 (2) ~ 

(3) ~t:qIG'1 (4) cPl4wJi 

97. This is not included in the selection procedure: 

(1) Interview 

(3) Medical Examination 

"'f.I<A" ~ it <:f6" {J ~ ~ d ;uff ~ : 

(1) me=m=tOR 

(3) ~ tRtlffUT 

(27 ) 

(2) Jnduction 

(4) Tests 

(2) -erG ~ 

(4) tRt~ 

P.T.O. 
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98. Under the process of delegation of authority the subordinates are assigned: 

(1) Responsibility (2) Authority 

(3) Accountability (4) All of these 

~ cf; 3RRUT ~ >illPm cf; 31'\flfc;, ~~T CfiT xifqr \JlTcTI t : 

(1) GTf7.Rq (2) ~ 

(3) \i1qI6l~lIdl (4) ~ ~ 

99. A banking partnership firm can have: 

(1) Not more than 20 partners (2) Not more than 10 partners 

(3) Not more than 15 partners (4) Any number of partners 

~ ~ '{il$l~I~ x-t~m if m ~ t : 

(1) 20 '{il$l~I\( ~ ~ 'TIft (2) 10 XiI$l~I\( ~ ~ ~ 

(3) 15 XiI~l~l\( ~ ~ 'TIft (4) ~ '4t -m:sm if ~cm-

100. Which one of the following is not an innovative banking service? 

(1) Merchant Banking (2) Leasing 

(3) Credit Control (4) Venture Capital 

~kjiRhd if ~ ~-x-fr ~ ~ ~~crr rrtfft? 

(1) ~ ~ (2) q~cl~pfl 

(3) ~ ~lI"'?101 (4) \3E.Tl=f ~ 

(28 ) 



3T~ ~ ~ Plcl~1 
~ ~ cf> ~ 3lJCRUf--p5 tR Cfl1:IT ~-q?f cf> GAT ~ tR ~ ;frc;fTICfiTCift 6fWf-~.q;,~ ~~) 

1. w.=r ~fffi tf) 1 f11<;A -$ 10 ~ -$ 3FGX "8T ~ -R fcn ~FFI 4?l -q ~ TO ~ ~ 3tR cnW 
w.=r ~ "ftt ~.I ~fffi tf) 1 G~ tI ~ ~ \ffR tR ~ ~ <:"1 fq) 1 C1 "Q)a1 f.ifre1cP em ~ 
~ ~ !i!"14?l rGr ~ ~fffi tf) 1 mt<T q;x ~ I 

2. ~a:rr 1fCrf -q (&l.fj/l.fj/ ~ wnr-'Cf?f rff 81RtRCffl, tRw <:IT "fIlGT cnW ~ ~ C"f)T1l\jf 

~ -q -=r "C1'nl1 
3. \RR-tJ?r 3lWT ~ ~ lflIT ~ I -qW or crt ~ 8fR or Eft Fcq;cr CIiY, ~ ifflV-'Cf?f rnff 
~ G1/ilm, cffcrcrr ifflV-'Cf?f q;r Eft lj,(RJiCfj1 fcIRrr GI7i1JfI , 

4. 3N-'1T 81jRJl'fiCfj erer!" \;'fff-'Cf?f q;r "iffiffqj JT#!Pf ~-TfliO W .q.:, W ~ ~ 
tR~1 

5. ~'Cf?f rff JT#!Pf TfliO W .q.:, W 37fFfT 81jRJl'fiCfj ~ ~ W f&vi erer!" ;ftW ~ 7[ffT 
qff 7fTWT q;v cr, IiI1ff -1iI1ff 31/Qf(qCfj rn cntf JWf-~RftCfjI q;r "iffiffqj erer!" We q;r ~ 

~~wf&vi, 

6. 311"0 ~o 3TRo tJ?r tR 3i'jwl1itf) ~, w.=r-~fffitf)1 ~ q xlc ~ (~ cnW m) (f~ 
w.=r-~Rfltf)1 tR 3i'jwl1itf) ~ 3tR 311"0 ~o 3TRo tJ?r ~ rGr ~~~1I'j -q \34RcY\~"1 rGr 
~ "ftt ~I 

7. \34gc:m ~~~1I'j -q cnW ~ 4Rqct"1 "Q)a1 f.ifre1cP &RT l'll1lfOl<:"1 m ~ 3R:r~ ~ ~ 
~ ~ q;r >r<WrlWtT ~I 

8. w.=r-~fffitf)1 -q ~ w.=r -$ "'fI'R ~tf)~tf) \RR ~ ll<l ~ I ~ JWf rff ~Cfj&qCfj \;'fff ?ff 
~ ~ \;'fff-'Cf?f qff ~ rtfitfr rff ~ ~ 7J7l 7[ff qff ~ 'Cf?f rff JT#!Pf TfliO W 

~ ~ ~ rff ~ .q.:, W 7fTWT "f/WfT t, 
9. ~ w.=r -$ ~ -$ ~ ~ ~"8T ¥ cnT lfrq;T ~I ~ ~ ~ ~ cnT lfrq;T m 

tR 3Tercrr ~ ¥ cnT ~ ~ tR Cf5 \RR l"fC1G" lWtT ~ I 

10. &IFf cr fit; ~ "if1V ~ lfTW atfiPcr \;'fff "if"Cf& rnff iifT W4fflT t, ~ 3lfCl ~ ~ 

q;r \;'fff rnff cfrrr ~ f. m ~ 1:ffctn -$ ~ ~ ll<l ~ ~ em ~ ~ ~ I 
~ ~ tR ~ 3tcf> ~ ~I 

11. ~ ~ -$ ~ ~ ~fffitf)1 -$ j~~td -$ ~ crrc;n TO (f~ 3lffr:T ~ ~ q;r 
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